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THM 348 Service Operations Management
Midterm Exam Answer Sheet
1. Explain the Clark-Fisher hypothesis? What is the implication of this very hypothesis nowadays?  (2 Points)
“Clark-Fisher” hypothesis states that as productivity (output / labor-hour) increases in one sector, the labor force moves into another. The implication of this very hypothesis nowadays is that the largest percentage of working population is employed in service sector.
2. What is the ultimate aim of B2C services? Provide one example of B2C services. (2 Points)
The ultimate aim of B2C (Business to Customer) services is to create added value by engaging and connecting with the customer in a personal and memorable way. An example to B2C services is visiting Disney Land where employees wear clothes of important cartoon characters and connect with guests while playing pre-determined roles (stagers).  
3. Explain, through an example, how reducing the personal element in service delivery can engender overall cost leadership. (2 Points)
Having ATM machines not only reduces the personal element in service delivery but also reduces transaction costs for banks. This certainly contributes to overall cost leadership.
4. Briefly explain how incremental nature of innovation is one of the unique challenges of service innovation. (2 Points)
Since customers participate in service systems, innovation tends to be evolutionary rather than radical to allow for acceptance.
5. Contrast “Economizing Customer” to “Convenience Customer”? (2 Points)
While an economizing customer is the one who wants to maximize the value obtained for his / her expenditures of time, effort and money, a convenience customer is the one who has no interest in shopping for the service; rather he / she is willing even to pay extra for personalized or hassle-free service.
6. What is the rationale behind using “Taguchi Methods”? Provide an example illustrating the use of Taguchi methods. (2 Points)

The rationale behind Taguchi methods is that a customer perceives a good of quality when that very good could still properly function under adverse conditions. To illustrate, let’s take the example of a telephone which is designed to be far more durable than necessary because, more than once, it will be pulled off a desk and dropped on the floor.  

Good Luck
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